

Name: Summer Anderson Student ID: 201022779

Print Date: 01/14/2024

Degrees Awarded

Degree: Certificate - 1 to 19 credits

Confer Date: 03/19/2021

Plan: Certificate of Recognition - Leadership and Human Relations

Degree: Certificate - 20 to 44 credits

Confer Date: 03/19/2021

Plan: Certificate of Completion - Organizational Performance Improvement

Degree: Associate in Applied Science-T

Confer Date: 08/17/2023
Degree Honors: Deans' Scholar

Plan: Associate in Applied Science-Transfer - Organizational Leadership &

Resource Management

Course GEN-S GEN-S GEN-S GEN-S	100 101 140 163	WINTER 2009 (01/05/2009 - 03/19/2009 Description Strategies/Academic Succ Orientation To College Career Plan/Life Explore Psych Of Self-Esteem 4.000 Term Totals	Attempted 2.000 1.000 1.000 1.000 Attempted 5.000	Earned 2.000 1.000 1.000 1.000 Earned 5.000	Grade 4.0 4.0 4.0 4.0 4.0 5.000	Points 8.000 4.000 4.000 4.000 Points 20.000
<u>Course</u> PSYC	102	SPRING 2009 (03/30/2009 - 06/10/2009 <u>Description</u> Psychology Of Adjustment	09) <u>Attempted</u> 5.000	<u>Earned</u> 0.000	<u>Grade</u> WP	<u>Points</u> 0.000
Term GPA		0.000 Term Totals	Attempted 5.000	<u>Earned</u> 0.000	GPA Units 0.000	<u>Points</u> 0.000
<u>Course</u> OLRM	231	WINTER 2019 (01/02/2019 - 03/15/2019 <u>Description</u> Intro/Non-Profit Orgs	19) <u>Attempted</u> 3.000	<u>Earned</u> 3.000	<u>Grade</u> 3.7	<u>Points</u> 11.100
Term GPA		3.700 Term Totals	Attempted 3.000	<u>Earned</u> 3.000	GPA Units 3.000	<u>Points</u> 11.100
<u>Course</u> OLRM OLRM	210 233	SPRING 2019 (04/01/2019 - 06/14/2070) Description Intro/Servant-Ldr Funding/Grant Write/Np	19) <u>Attempted</u> 5.000 3.000	Earned 5.000 3.000	<u>Grade</u> 4.0 4.0	Points 20.000 12.000
Term GPA		4.000 Term Totals	Attempted 8.000	<u>Earned</u> 8.000	GPA Units 8.000	<u>Points</u> 32.000



Name: Summer Anderson Student ID: 201022779

SUMMER 2019 (07/01/2019 - 08/22/2019)						
<u>Course</u>		Description	<u>Áttempted</u>	<u>Earned</u>	<u>Grade</u>	<u>Points</u>
BMGMT	147	Hr Interviewing/Risk Mgt	2.000	2.000	4.0	8.000
BUS& OLRM	101 225	Intro To Business Human Rel/Organizations	5.000 5.000	5.000 5.000	4.0 4.0	20.000 20.000
OLI III	220	Traman row organizations	0.000	0.000	1.0	20.000
			<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>
Term GPA		4.000 Term Totals	12.000	12.000	12.000	48.000
President's Sch	nolar					
		FALL 2019 (09/23/2019 - 12/12/2019	9)			
<u>Course</u>		Description	<u>Attempted</u>	<u>Earned</u>	<u>Grade</u>	<u>Points</u>
ACCT&	201	Prin Of Accounting I	5.000	0.000	W	0.000
CO-OP	289	Community Volunteer Srv	3.000	3.000	4.0	12.000
OLRM	201	Intro To Org Leadership	5.000	5.000	4.0	20.000
OLRM	220	Human Relations/Workplce	3.000	3.000	4.0	12.000
PE-ED	109	Basic CPR	1.000	1.000	Р	0.000
			Attempted	Earned	GPA Units	Points
Term GPA		4.000 Term Totals	17.000	12.000	11.000	44.000
_		WINTER 2020 (01/06/2020 - 03/20/2020	,			
Course	100	Description	Attempted	<u>Earned</u>	<u>Grade</u>	Points
ART&	100	Art Appreciation	5.000	5.000	3.8	19.000
OLRM	205	Diversity and Inclusion	3.000	3.000	4.0	12.000
OLRM	260	Conflict Resolution	5.000	5.000	4.0	20.000
			Attempted	Earned	GPA Units	Points
Term GPA		3.923 Term Totals	13.000	13.000	13.000	51.000
Term Honor:		President's Scholar				
		SPRING 2020 (04/13/2020 - 06/19/202	20)			
<u>Course</u>		Description	<u>Attempted</u>	<u>Earned</u>	<u>Grade</u>	<u>Points</u>
OLRM	250	Organizational Communication	5.000	5.000	3.8	19.000
PEFSP	140	Yoga I	2.000	2.000	4.0	8.000
SOC&	101	Intro To Sociology	5.000	5.000	3.2	16.000
			<u>Attempted</u>	Earned	GPA Units	<u>Points</u>
Term GPA		3.583 Term Totals	12.000	12.000	12.000	43.000
Term Honor:		Deans' Scholar				
. 31111 101101.		200.00 20.000				
FALL 2020 (09/21/2020 - 12/11/2020)						
Course		Description PALL 2020 (09/21/2020 - 12/11/2020	Attempted	Earned	<u>Grade</u>	<u>Points</u>
OLRM	150	Improving Human Effectiveness	2.000	2.000	3.5	7.000
CLINI	.50	Improving Haman Encouverious	2.000	2.000	0.0	7.000



Name: Summer Anderson Student ID: 201022779

Term GPA		3.500 Term Totals	Attempted 2.000	<u>Earned</u> 2.000	GPA Units 2.000	<u>Points</u> 7.000
		CDDING 2024 (04/05/0004 - 00/40/0	2004)			
<u>Course</u>		SPRING 2021 (04/05/2021 - 06/18/2 <u>Description</u>	<u>Attempted</u>	<u>Earned</u>	<u>Grade</u>	<u>Points</u>
PEFSP PEFSP	178 192	Aerobic Walking Athletic Conditioning III	2.000 2.000	2.000 2.000	4.0 4.0	8.000 8.000
TEC-D	107	Technical Drawing	4.000	4.000	3.8	15.200
TEC-D TEC-D	121 200	Plane Surveying Computer-Aided Design I	4.000 4.000	0.000 4.000	W 4.0	0.000 16.000
			Attempted	Earned	GPA Units	<u>Points</u>
Term GPA		3.933 Term Totals	16.000	12.000	12.000	47.200
Term Honor:		President's Scholar				
		FALL 0004 (00/00/0004 40/40/00	104)			
Course		FALL 2021 (09/20/2021 - 12/10/20 <u>Description</u>	Attempted	Earned	<u>Grade</u>	<u>Points</u>
HIST& PE-ED	136 121	US History 1 MHFA: Adult	5.000 1.000	5.000 1.000	3.5 P	17.500 0.000
Grading Basis:		Pass/Not Pass	1.000	1.000	•	0.000
			Attempted	<u>Earned</u>	GPA Units	<u>Points</u>
Term GPA		3.500 Term Totals	6.000	6.000	5.000	17.500
Course		WINTER 2022 (01/03/2022 - 03/18/2	,	Formed	Crada	Dointo
<u>Course</u> ENGL	99	<u>Description</u> Read/Write/Acad/Dscplins	Attempted 1.000	<u>Earned</u> 1.000	<u>Grade</u> 4.0	<u>Points</u> 4.000
ENGL& OLRM	101 202	English Composition I Intro to Organizational Ethics	5.000 5.000	5.000 5.000	4.0 4.0	20.000 20.000
SCI	100	Introduction to Science	5.000	5.000	4.0	20.000
			Attempted	Earned	GPA Units	<u>Points</u>
Term GPA		4.000 Term Totals	16.000	16.000	16.000	64.000
Term Honor:		President's Scholar				
		SPRING 2022 (04/04/2022 - 06/17/2	2022)			
Course		<u>Description</u>	<u>Attempted</u>	Earned	<u>Grade</u>	Points
ACCT& MATH	201 98	Principles of Accounting I Essentials of Intermediate Alg	5.000 5.000	5.000 5.000	4.0 3.3	20.000 16.500
OLRM	299	Capstone Leadership Project	5.000	5.000	4.0	20.000
			Attempted	Earned	GPA Units	Points
Term GPA		3.767 Term Totals	15.000	15.000	15.000	56.500
Term Honor:		Deans' Scholar				



Summer Anderson Name:

Student ID: 201022779

SUMMER 2022 (07/05/2022 - 08/18/2022)						
<u>Course</u>		<u>Description</u>	Attempted	Earned	<u>Grade</u>	Points
CMST&	210	Interpersonal Communications	5.000	5.000	4.0	20.000
ENGL&	235	Technical Writing	5.000	5.000	4.0	20.000
GEOL&	101	Intro Physical Geology	5.000	5.000	3.8	19.000
MATH&	107	Math In Society	5.000	5.000	2.5	12.500
Term GPA		3.575 Term Totals	Attempted 20.000	<u>Earned</u> 20.000	GPA Units 20.000	<u>Points</u> 71.500
Term Honor:		Deans' Scholar				
Undergradua Cum GPA	ate Totals	3.830 Cum Totals	150.000	136.000	134.000 5	12.800

End of Unofficial Transcript - Academic Career



Unofficial Transcript- Continuing Education Career

Name: Summer Anderson

Student ID: 201022779

Print Date: 01/14/2024

Degrees Awarded

Degree: Certificate - 1 to 19 credits

Confer Date: 03/19/2021

Plan: Certificate of Recognition - Leadership and Human Relations

Degree: Certificate - 20 to 44 credits

Confer Date: 03/19/2021

Plan: Certificate of Completion - Organizational Performance Improvement

Degree: Associate in Applied Science-T

Confer Date: 08/17/2023
Degree Honors: Deans' Scholar

Plan: Associate in Applied Science-Transfer - Organizational Leadership &

Resource Management

FALL 2010 (09/20/2010 - 12/08/2010)

Course CNPRF 02	<u>Description</u> 11 Flagging Certification	Attempted 0.000	<u>Earned</u> 0.000	<u>Grade</u> *	<u>Points</u> 0.000
Term GPA	0.000 Term Totals	Attempted 0.000	<u>Earned</u> 0.000	GPA Units 0.000	<u>Points</u> 0.000
Continuing Educa	ation Totals 0.000 Cum Totals	0.000	0.000	0.000	0.000

End of Unofficial Transcript- Continuing Education Career